EH R

60N

7]

751

& SRERRK

O FEBITRI . CRTIRSREEEIE SN RS | JEiERY
TR TR SR

¢ ANERFIEEEEEHIN

& BRIMEED:
BN : 414 bar (6000 psig)
&% C-276 : 414 bar (6000 psig)
&% 400 : 345 bar (5000 psig)
£X : 241 bar (3500 psig)
iR : 207 bar (3000 psig)

& ITIERE:
PTFE 184} : -54°C & 232°C(-65°F Z 450°F)
PEEK 14} : -54°C Z 260°C(-65°F Z 500°F)
ABIER  -54°C = 649°C(-65°F = 1200°F)

L 2R 2R 4

RYM 1/8" & 1" 5#& 6 mm Z 28 mm
EfR AR ik
BHREHEHNARSKREATIEEDETNR

im R

6500
6000
5500
5000
4500
4000
3500
3000

£ (psig)

2500
2000
1500
1000

500

0

BECC)

-54 38 149 260 371 482

593

704
448

414

379

345

310

— &8 C-276
276 — 316 SS

241 — &% 400

EA (bar)

207 —

— #if

\

138

103

69

35

-65 100 300 500 700 900
RE(F)

1. HEETASEER,
2. FEECMRIEERL | BRARSIFSEERAE.

1100

1300

WENZHOU INSEMOUNT AUTOMATION INSTRUMENTATION CO., LTD. 30



B: YT-LOK

tRELSEtAE RI

YT-LOK :B

Bigs
1 ‘ D
2 2R ‘
3
4
s 9A 98 9c
6
7
8
v X
10 8
T
e e e
A0 HO
[FE]
YT-LOK
B o HBIIHHEER/ASTM HITE o
316 SS &% 400 &% c-276 { i
1 FiA TN ‘
2 EEIRET B I T
3 ERZe 321 SS/A276 ‘ 4 360/B16
4 alioles 316 SS/A276
5 s 316 SS/B783 47 360/B16 iR RmR T — R in. (mm)
6 e 316 SS/A479 &% R-405/B164 &% C-276/B574 #4 360/B16 A0 w0 in.(mm) EXTHS Cv A N e b . H
7 w1 316 SS/A276
i / 6 mm YT-LOK 6 mm YT-LOK _60N-YT6M-4
8 pir ] PTFE &% PEEK SfEAE 120 1.20
8 mm YT-LOK 8 mm YT-LOK ~60N-YT8M-4 aon | @os)
9A R B YT VT
9B Tt &4 R-405/B164 & C-276/B574 1/47 YT-LOK 1/4" YT-LOK -60N-YT4-4
ac 316 55/A276 316 55/A276 0.16 035 | 103 | 103 | 05 | 217 | 084 | 285
1/4 NPTSMEEL 1/4 NPTSMZEL 0) -60N-NT4-4 : 262) | (262 | (127) | (5 | (L4 | (724
i 316 SS/A479 B 400/B164, asc 3/8 NPT 3/8 NPT _60N-NT6-4 119 | 119
10 (i3 316 SS/A182 B127, B564 A% C-276/B564 47 360/B16 /8 NPTSMEL /8 NPTHMELL 302 | (02
- P ——— 1/8 NPTRIZEL 1/8 NPTPSEEL _60N-NT2F-4 (%fg) éf‘%
R —RHER 1/4 NPTRIIEE 1/4 NPTHIL 60N-NT4F-4 (E%%) (%'qu)
10 mm YT-LOK 10 mm YT-LOK _60N-YTLOM-6 (gé‘ff) ééf)
152 | 152
12 mm YT-LOK 12 mm YT-LOK _60N-YT12M-6 oie | aag
14 mm YT-LOK 14 mm YT-LOK 60N-YT14M-6 156 | 156
°C (100°F)HIaSiR SR e e SONYTIAM: 397) | (97)
c =
38°C ( ) e 3/8" YT-LOK 3/8" YT-LOK _60N-YT6-6 (gfé) (3%'5‘.%)
TR " yT "y 1.52 1.52
1/2" YT-LOK 1/2" YT-LOK -60N-YT8-6 (38.6) (38.6)
0563 | 25 10 35
40 3/8 NPTHMZE 3/8 NPTAMES ?é?(j; _60N-NT6-6 0.85 ass | 655 |ese | esn
36 ONLNTAE 112 | 112
1/4 NPTRSREL 1/4 NPTPRSREL 60N-NT4F-6 26 | cas)
32 3/8 NPTRIEE 3/8 NPTRIZE _60N-NT6F-6
28
b4 — WIE#Z : 0.59" (15.0 mm) M20 x 1.5 ISOJMZEX M20 x 1.5 ISOJMEZEX -60N-MS20-6 150 | 150
g 2' o I —— P : 0.39" (10.0 mm) M22 x 15 ISO5MEE M22 x 15 ISO5MES GON-MS22-6 381 | (381
4 6 — Wi : 0247 (60 mm) 12 mm FEBEE 12 mm FEEEE -60N-SW12M-6
I — PIEE : 0.16" (4.0 mm)
K1 14 mm REERIE 14 mm REERIE -60N-SW14M-6
08 16 mm FEEEHSE 16 mm REEES -60N-SW16M-6 113 | 1.13
[ E— 86) | (286)
04 1 3/8" REEIHE 3/8" REEIHE -60N-SW6-6
0 12 kEEES 12 kEBES ~60N-SW8-6
1 2 3 4 6 7 8 9
T

31 www.yt-lok.com

WENZHOU INSEMOUNT AUTOMATION INSTRUMENTATION CO., LTD. 32




B: YT-LOK

YT-LOK :B

IRiERRMRT PSR e . R, in. (mm) R RBHR T RiER P— v R, in. (mm)
. 5* ? H
pNu | ]| in.(mm) A B C D E H PN = | el Lot A B C D E H
14 mm YT-LOK 14 mm YT-LOK -60N-YT14M-10 6 mm YT-LOK 6 mm YT-LOK -60N-YT6M-4-A
120 | 120
16 mm YT-LOK 16 mm YT-LOK -60N-YT16M-10 197 1.97 8 mm YT-LOK 8 mm YT-LOK ~60N-YT8M-4-A (305) | (305)
18 mm YT-LOK 18 mm YT-LOK -60N-YT18M-10 (500 | (500 1/4" YT-LOK 1/4" YT-LOK -60N-YT4-4-A (Sfi) (;ﬁ)
T v [P 016 05 | 217
3/4" YT-LOK 3/4" YT-LOK 60N-YT12-10 1/4 NPTHMEL 1/4 NPTHMELy @0 -60N-NT4-4-A 035 106 12 %69 a2 | 6
26. X
3/4 NPTSMRE 3/4 NPTSMEEL -60N-NT12-10 3/8 NPTSMELL 3/8 NPTSMESY -60N-NT6-4-A @69 | (269)
039 175 175 | 0875 35 138 412
1/2 NPT 1/2 NPTPI3gEY (10.0) -60N-NT8F-10 218 | (a45) | 445) | (222) | (889) | (34.9) | (1048) 1/8 NPTRIIR4Y 1/8 NPTRIIRLY -60N-NT2F-4-A 100 | 0ses 09 | 291
3/4 NPTPUIRY 3/4 NPTRIgE! -60N-NT12F-10 1/4 NPTRZE 1/4 NPTRURE -60N-NT4F-4-A @4 | 443 @0 | 740
156 156
M27 x 2 ISosHge M27 x 2 ISOSHgE ~60N-MS27-10 (397) | (397) 10 mm YT-LOK 10 mm YT-LOK -6ON-YT1OM-6-A 3ie | oig
14 mm EEEES 14 mm FEEHE -60N-SW14M-10
: - 175 175 12 mm YT-LOK 12 mm YT-LOK -60N-YT12M-6-A w2 | 14
16 mm REEREE 16 mm REERIE -60N-SW16M-10 @45) 45) G61) | (361)
By—— PyR— CON-SW12.10 14 mm YT-LOK 14 mm YT-LOK -60N-YT14M-6-A o .
"y . 132 | 132 (254) | (88.9)
20 mm YT-LOK 20 mm YT-LOK -60N-YT20M-15 235 | 235 3/8" YT-LOK 3/8" YT-LOK -60N-YT6-6-A 336) | (336)
22 mm YT-LOK 22 mm YT-LOK -60N-YT22M-15 (59.7) (59.7) 1/2° YT-LOK 1/2" YT-LOK -60N-YT8-6-A (3164% (316412)
3/4 NPT 3/4 NPTREZLX -60N-NT12F-15 3/8 NPTMES 3/8 NPTSMEE “60N-NT6-6-A 112
0.59 307 114 50 17 50 " " (28.6)
25 mm FEEIEE 25 mm FEGHHE (15.0) -60N-SW25M-15 : L | 1gs | @O a2 @2 | az) 1/4 NPTPUZE 1/4 NPTRIZEL -60N-NT4F-6-A (Zlélg) 063 106 | 356
28 mm FEEIESR 28 mm FEEIHER -60N-SW28M-15 445 445 ) (15.9) | 0.563 25 1 (2700 | (90.5)
(44.5) | (445) 3/8 NPTHIRREX 3/8 NPTRSZL -60N-NT6F-6-A 085 (143) | (635)
1" FEERR 1" FEERIR -60N-SW16-15
12 mm £ESHE 12 mm EESHE 0.24 -60N-SW12M-6-A
3/4 ATREHER 3/4 NIRETRIE -60N-SW12P-15 (6.0) o .
| =] | _ -6-, " y
14 mm REEREE 14 mm REERHS 60N-SW14M-6-A 254) | (889
. S 0N " 113 | 113
16 mm EEEES 16 mm FEEES 60N-SW16M-6-A aie | gie
3/8" REEREE 3/8" FEERIE -60N-SW6-6-A
1/2" FEEHHEE 1/2" REERE -60N-SW8-6-A
14 mm YT-LOK 14 mm YT-LOK -60N-YT14M-10-A
1
AR 16 mm YT-LOK 16 mm YT-LOK -60N-YT16M-10-A 161 | 161
410) | (41.0)
18 mm YT-LOK 18 mm YT-LOK -60N-YT18M-10-A
D ] . 0.75 35 | 125 40
| 3/4" YT-LOK 3/4" YT-LOK -60N-YT12-10-A 218 (19.05 | (88.9) |(3175) | (10L6)
039
3/4 NPTYMZEX 3/4 NPTSNMES (100) -60N-NT12-10-A Gan
1.50
1/2 NPTR#BLL 1/2 NPTPIIREL -60N-NT8F-10-A 163 (38.1)
3/4 NPTRIES 3/4 NPTPIEEL ~60N-NT12F-10-A “13)
20 mm YT-LOK 20 mm YT-LOK -60N-YT20M-15-A 235 20
22 mm YT-LOK 22 mm YT-LOK -60N-YT22M-15-A (59.7) | (51.0)
X 175 | 114
B 3/4 NPTHREESL 3/4 NPTRIZLY 059 -60N-NT12F-15-A @5 | (250)
T (15.0) 0.875 5.0 143 4.72
25 mm REEHHE 25 mm REEHEE -60N-SW25M-15-A 3.27 @22 | a2 | @64 | (120)
28 mm FEEREE 28 mm FEEREE -60N-SW28M-15-A 175 175
@45) | (44.5)
1" FEEES 1" FEEER -60N-SW16-15-A
|
3/4 NIRETRIE 3/4 ATREHEIR -60N-SW12P-15-A
YT-LOK WO
[ — 1, YT-LOKFRRYT-LOKW-REf , ISORTAHMRLI ;
2. RHIRIRYT-LOKREZBFERSTHRY , MBRI(UHSE | BERITTHEEE |
3. RNESHRIIAINE , FERCESMR T B R EISSHERINE.
o
C A
I
=]

33 www.yt-lok.com WENZHOU INSEMOUNT AUTOMATION INSTRUMENTATION CO., LTD. 34



B: YT-LOK

ITBER

AR HA

6171819410

L XIS
s5 31655 F SRR , R AIMER
s4 304 SS s et
seL 3161 S5 M FTRRIARH , i&BEHEF
=yt JE Y P Na% s e
saL 3041 S5 P FAHE. HEIRIGA Pipe® | I8EIATube®
M4 A% 400
H276 &% C-276 E Iﬁ—?J H éﬁ!
% BIASHER
R LER=ES
5 B BRE
60N 60N ZFIETE .
7 e[|
- I FRIAT SRR —E
IR RE s AR
YT YT-LOK £Ei
NT NPT iRt B APEELES
PT ISO $#RAR LI
PP 1SO 4TI (G EE) 4 0.16"(4.0mm)
PPG SO F4FHRLL (GEH A BE) 6 0.24"(6.0mm)
PPR 1SO FATI240 (GRE R4 10 0.39"(10.0mm)
MS NERSH 15 0.59"(15.0mm)
BW e
SW RIS
B =ass
% BRAAPTFE
R G aE
IR . oEEK
i A HIR AT
1 1/16" 5& 1mm 8 M8x1 v e m)
2 1/8" 5% 2mm 10 M10x1 BEESIE
3 3/16" H# 3mm 12 M12x15 S
4 1/4" 5 4mm 14 M14x1.5 % LJ IEE
5 5/16" E{#& 5mm 16 M16x1.5 A R
6 3/8" && 6mm 18 M18x1.5
7 7/16" 82 7mm 20 M20x1.5 s
8 1/2" 8% 8mm 22 M22x1.5
9 9/16" H#& 9mm 24 M24x1.5 % s
10 5/8" 8#& 10mm 27 M27x2 o
1 11/16" &% 11mm 30 M30x2 M PIEMRIE
12 3/4" 5i#& 12mm 33 M33x2
= 34
13 13/16" s 13mm 4 FIAIBAUIRIERT =R
14 7/8" && 14mm FERBIREE , 7
15 15/16" B& 15mm 20x2 M20x2 % AR TS
16 1" 2& 16mm 25 M2 ez YT-LOKISFREETIMSE | PR PEIARIASTM G93 %

BIC PHIERER , AIEATESNE

YT-LOK 60N RFUSHBRSHERRES : #78, 5, AO, O, WigR., BRSO, ARIEREER. S35/ " B, M
ERERRAR). SHOMAORETSERN , HORSRER. ACOFMHAR P32, P33,

35 www.yt-lok.com



